CCNA/Cisco admin interview questions:        
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You need to retrieve a file from the file server for your word processing     application, which layer of the OSI model is responsible for this function?
    Presentation layer
    Application layer
    Session layer
    Transport layer
    Datalink layer
   
You are working in a word processing program, which is run from the file     server. Your data comes back to you in an unintelligible manner. Which layer     of the OSI model would you investigate?
    Application layer
    Presentation layer
    Session layer
    Network layer
    Datalink layer
    The IEEE subdivided the datalink layer to provide for environments that need     connectionless or connection-oriented services. What are the two layers     called?
    Physical
    MAC
    LLC
    Session
    IP
         
1.2
    2.2
    3.2,3
    4.4
    5.4
    6.1,2
    7.2
    8.2
    9.1
    10.5
    11.4
    12
    13.1
    14.2
    15.2,3
         
Que.15Select which protocols use distance vector routing?
    OSPF
    RIP
    IGRP
    PPP
         
Que.15 Select which protocols use distance vector routing?
    1. OSPF
    2. RIP
    3. IGRP
    4. PPP
   
Ans.:RIP and IGRP use for distance vector routing..
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